DHSEE Tbyoh—ISY—) 3FLE FRSFT

JIE 2 FRA FE X EI(E)) i
1 HE /) 3 1 97.0 iR
2 i H/NER 3 1 92.3 iR
3 RER/INER 3 1 86.0 iR
4 A BN 3 1 84.0 iR
4 /NS 3 1 84.0 2R
6 EENER 3 2 82.0 R
7 IR 3 2 80.0 i
8 EAH/NM 3 1 79.8 £
9 AB /) 3 2 77.0 £
9 gH/ 3 2 77.0 £

LT N AR 3 1 75.0 £l
t£iE/ 3 1 74.0 ]
REF/NFER 3 1 73.7 £
]/ 3 1 73.0 ]
=/ 3 1 73 2
SNER 3 1 71.0 ETE]
RKETUOLY=HE 3 1 67.9 £
B A/ 3 1 66.5 i
H/NER 3 3 62.0 i
B Al /N 3 3 59.3
KETOLY=E 3 2 56.8
HEINERS 3 1 55.0
ESTEN 3 1 55.0
B Al /N 3 2 54.5
BiR/NDER 3 1 54.0
LiEHLFE 3 2 54.0
ET /IR 3 1 52
Kia/ 3 1 46.0
LiEHLFE 3 1 43.0
K/ 3 3 40.0
BINER 3 1 35.0
Pt NUN 3 4 8.0




